

$t_n = 5, 9, 13, 17, \dots$

الف)  $a_n = a_1 + (n-1)d \Rightarrow a_n = 5 + (n-1)4 \Rightarrow a_{n+1}$

ب)  $a_{10} = 5 + \frac{(10-1)4}{1} = 41$

۱

$t_n = 4, 10, 16, 22, \dots$

الف)  $\frac{n}{4} (2a_1 + (n-1)d) = \frac{14}{4} (2 \times 4 + \frac{(14-1)4}{1}) = 245$

ب)  $a_n = 4 + (n-1)6 \Rightarrow a_{11} = 4 + 10 \times 6 = 64$   
 $a_{11} = 64 \Rightarrow 4 + (11-1)6 = 64 \Rightarrow 4 + 60 = 64$   
 $S_n = \frac{n}{2} (2a_1 + (n-1)d) \Rightarrow S_{14} = \frac{14}{2} (2 \times 4 + \frac{(14-1)4}{1}) = 245$

۲

$t_n = 1 + \sqrt{3}, 2, 3 - \sqrt{3}, \dots \Rightarrow d = 3 - \sqrt{3} - 2 = 1 - \sqrt{3}$

$a_{2d} - a_{2c} = a_1 + 2fd - a_1 - 2cd = 2d \Rightarrow 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$

۳

$a_n = 2^x, 3 \times 2^x, a^y$   
 $b_n = x, y, y$

$a^y - 3 \times a^{2x} = 3 \times a^{2x} - a^{2x} \Rightarrow a^y = 5 \times a^{2x} = a^{2x+1}$   
 $\Rightarrow a^y = a^{2x+1} \Rightarrow y = 2x+1$

$y - 2 = 2 - x \Rightarrow y = 4 - x$

$2x+1 = 4-x \Rightarrow x=1 \Rightarrow y=3 \Rightarrow xy = 3 \times 1 = 3$

۴

$t_n = 2x-5, 2x-1, 4x, \dots$

$4x - (2x-1) = 2x-1 - (2x-5) \Rightarrow 2x+1 = 2 \Rightarrow 2x = 1 \Rightarrow x = \frac{1}{2}$

$x = \frac{1}{2} \Rightarrow 2 - 3, 0, 3, \dots \Rightarrow d = +3$

$a_n = -3 + (n-1)3 \Rightarrow a_4 = -3 + 3(4-1) = 6$

۵

$$a_n = 3, 4, 5, \dots \Rightarrow a_n = n+1 \Rightarrow a_1 = 2 = 1+1$$

$$b_n = 1, 2, 3, \dots \Rightarrow b_n = n \Rightarrow b_1 = 1 = 2-1$$

$$a_n \cap b_n = n-1 \Rightarrow n-1 \in \mathbb{N} \Rightarrow n \in \mathbb{N}$$

$$\frac{1}{n-1}$$

6

$$\frac{a_1 - a_1 + a_1}{a_1} = \frac{a_1 + d - a_1 - d + a_1}{a_1} = \frac{a_1 + d}{a_1} = \frac{a_1}{a_1} = \frac{v}{-1} = \frac{-1}{v}$$

$$a_1 + a_1 + a_1 = 11 \Rightarrow 3a_1 + 3d = 11 \rightarrow a_1 + d = \frac{11}{3} = a_1$$

$$a_1 + a_1 + a_1 = 10 \Rightarrow 3a_1 + 4d = 10 \Rightarrow a_1 + \frac{4}{3}d = \frac{10}{3}$$

$$\begin{cases} a_1 + d = \frac{11}{3} \\ a_1 + \frac{4}{3}d = \frac{10}{3} \end{cases} \Rightarrow d = 1 \rightarrow a_1 = \frac{8}{3}$$

7

$$a_1 + a_1 + a_1 = 10 \Rightarrow 3a_1 + 3d = 10 \rightarrow a_1 + d = \frac{10}{3}$$

$$a_1 + a_1 = 10 \Rightarrow 2a_1 + 2d = 10 \rightarrow a_1 + d = 5$$

$$\begin{cases} 3a_1 + 3d = 10 \\ a_1 + d = 5 \end{cases} \Rightarrow a_1 + 4d = 10 \rightarrow 4d = 5 \Rightarrow d = \frac{5}{4} \rightarrow a_1 = \frac{15}{4}$$

8

$$a_n = a_1 + (n-1)d \rightarrow a_n = \frac{15}{4} + (n-1)\frac{5}{4} \Rightarrow a_{10} = \frac{15}{4} + (10-1)\frac{5}{4} = \frac{65}{4}$$

$$S_9 = 9a_1 \Rightarrow \frac{9}{4}(3a_1 + 3d) = 9 \times \left(\frac{9}{4}(3a_1 + 3d)\right) \Rightarrow 9a_1 + 9d = 9a_1 + 9d$$

$$\Rightarrow 3a_1 = 9d \Rightarrow a_1 = 3d$$

$$\frac{a_1}{a_1} = \frac{a_1 + 9d}{a_1 + 9d} \Rightarrow \frac{3d + 9d}{3d + 9d} = \frac{12d}{12d} = 1$$

9

$$d = \frac{a_1 - a_1}{v-1} = \frac{11-11}{3-1} = 0 \rightarrow a_n = \frac{11}{3} + (n-1)\frac{0}{3} \Rightarrow a_1 = \frac{11}{3} + 1 \times 0 = \frac{11}{3}$$

$$db = \frac{a_1 - b_1}{f-1} = \frac{11-11}{3-1} = 0 \Rightarrow db = 0$$

$$\frac{b_n - b_1}{d} = \frac{11-11}{-2} = 0 \Rightarrow \frac{b_n - b_1}{d} = 0$$

10